Effects of a Third Pole and a Zero on a
2nd-order System Response (Sec. 5.4)
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Effects of a Third Pole and a Zero on
a 2nd-order System Response (cont.)
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Effects of a Third Pole and a Zero on
a 2nd-order System Response (cont.)

Adding a zero
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Example 5.2
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The s-plane Root Location and the Transient Response (Sec. 5.5)
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FIGURE 5.17
Impulse response
for various root
locations in the
s-plane. (The
conjugate root is
not shown,)
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Problem P.17

— ()

s(Js+b)

+ K,
0,(s) =——bl K; K > R,
(e )

(c)

FIGURE P4.17 Robot gripper control.
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Problem P.17 (cont.)
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Problem P.17 (cont.)
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